AN\

BXEBF %530

£ AR KERIE

HRYTRESZ. BE—

BRXEBM £530 £ BAKRPREMBEFEARHIGEF—ER

2021411 H78 FHi6E309 HEE

| K ® & 1 X (9.5km) 2 (11.1km) 3X(11.9km) 4[Z(11.8km) 5[ (12.4km) 6X(12.8km) 7(17.6km) 8X(19.7km) i R
10 11 12 13 14

1 e NS &k &= 1 M 2 210 {f RF HE MY} 2 BRIl ## 3 TR K& 2 HZE K 3 TERE &8 2 FE BX 3o H #4 3 g BE 2 EE i 2 AE K 2
2 WEXE o ER B4 2 g KA 3 iFr AR Nt 8+ 30 #E 5 2 AH B% 2 A HK 4 H HEE 3 RH Bt 4|0 &8 BE 2(0 (k@ #E 3o EQO = 2 KE BEE 1
3 BAKRE FIE FR 4|0 RE HiE 20 EH BF INE OKiE 3 Bl 3 1|0 @A EA 4| BAX KIE 4| WE KH O3 ¥AX fElB 3 R BA 30 ¥ EXE 20 HA BN 1 RE FEN 1
4| FHFEBRXE & B 2| M HE 3 BER KK HiE B4 4| £ —t 200 HH B 1o s =AER 3| A &z 4o #E #EF 3| BEO MK 3| #HK BAE 2| MG KEF 1o BAAR E 3
5 BfHXE Fik K& 1 F BEA 3 A R EE ®E 20 AEF B 1 £k w2 K Al 3 e &g 4 AH EF 4 ERX HhE 4j0 TH #E 3 T x# 20 ®EE E O
6 WRFEXE © £k HE 2 BIE #|sh 3 g B aH B4 1 i E 1 B OKE 2 NI I ET A 4 BNl BE 3 XBE 3 wmEE 30 RE K& 3 #HE K— 2
7 HmRKE N BE—BR 2 BA #i 4|0 FEiE Kb #E BN 4 i K 2 tH BE 4 IR KR e M5 4 BRE ik 3 KiE #HK 3 EH EX 2 RR B/ 2 '8 BK 1
8 JEX & X% B3 =i# BE@ 2|0 F¥EAE =N aH —&F 2 B+ B 3o HiE =3} 4 ik =X 4 mE Eh 3 HNE EE 2 &Hhe EiE 4 EH #F 40 BEE FME 1 ma iz 1
9| FLIREFEBRKE |0 B—L2R JL 4 % E 1|0 &k —X W —= 1 FE KK 1 B2 EE 1 A# —ig 3 ERX BN 2 M Eg 2 BEX BF 3|0 705 (I5EL 1 HH X/ 2 &K BA 1
10 RAbKE IFH AR m HLE KiE 3 TR @& A¥ F 5|0 %EF ML 4 Ik KN 3 B BFE w WHE Rz w =iE R w 3 B3 w BE Kt wle RK JE 2 XIS BiE 2
1| RREBRXE &k Bk 1| iy Bt 3|0 (z3v vt EE EE 3 4B B 200 A & 3 FiE hE 4 =g E 3 BN RfE 3|0 AHFH FE 1| Ih LtrE 3|0 =iE BEKE 4 =k EiE 1
12 HEREXE B BEE 4 At #H 4|0 FHE K K EX 4 BHF B'BI 1 A BE 3 THOEER 1| FHE BE 2 R MTFE 4|0 B KB 4|0 I FEE 3 B Tk 1 WA % 1
13 R WNHE #£X 3 #E L 4l0 PR H WA FEK 3lo L H%£ 3 & E¥E 2|0 BE EABE 3| AIE K—F 3 HHE 1% 1o &FX E 4 A &% 3| BEE KB 2)0 #E B 2
14 HREKF Tk B 3 & ® 4|0 P37 SP= e A 3o #HIt EFE 4/0 /ML BEE 1| L EEE 4 WL @ 4lo 1kBk KE 4 & EX 4 IR0 FE 3o EHN B 3|0 kEaKk EAR 3
15 K aE KF 2 FTER Mot 1 ¥ MK Bl #RilE 3 =% R 4|0 LA K& 1 hiE X 3 FE B 4 HE KiE 4| HHAF BN 3 mx - 2 IWE wE 1|0 Bk B— 1
16| FRRPEERE wH mE 4 TR L5 4 B\ 2= &HH W& 1 Fk Fr 200 Rl FKLl& 3 HHE KK 4 BaEX AF 3 FE Rl 1 NG B 3 AO MW 2 JER FBFL 1 Ik g 1
17| BAREEKXRE £k EE 4 A B 3 R EE &5 #BE 3 XF BKX 2 KE K= 2 37 B 1 ms 24 XN B 4 g K3 3 A0 &= 3 i EX 3 L B 1
18 fEMKE TH B0 wm XE Eig w LBt FEH BEE w ® K 4| HE EKE 1 Al EX 3 &t B 3 W B 2| /M EZMT 4 %8 =K 3 = HBHIR 2| R BiE 1
19 ESERE I\ =FE 1 AR At 4 wh B BRI B 1| EE RAE 1|0 & BE 2 nE my 2 tH FEH 3 gk TH 4 2 ="E 1 XHE K# 2 EF BX A 58 K 1
20| IERFIKE hE BFH S migE EFE 3 hhlR BE e E 2 BE E 2 XEF HE 1| KB LKA 4 D E 4 =g WA 3 M Es 3 - NI 5 N R R 1 =L &F 1
21 M aRfERE IWH E£ 3 = EX 4 KiE B3 TR BF 3 #0 BBIE 2 gy EEAX 1| FHE FAE 1 KH —HE 4 WIg B 3 Wil JER 3| #HFHE AR 3 et B 2| #EX EzA 1
2| BEBEFRXE HF WE 3 ki R# 2 LHE K HK HER T KO R4 RE DE SH @ 3 SFE & 2 ER @ 4 WE Bt 3 He B8 2 AR ZEtH 2 K &8 1
23| RERBFRF B% ME 2| A BE 2| ERK B BR =X 40 BN BX 1| F8 kXK 1| BA FK 2 &/ MK 2] =HH kE 4 BA ® 3 HEHKE 2| KX KH 20 WA HE 3
24| RAFFXE Al BEA 3 B eyt 2 TR BE TE k& 2 g KZE 2 HER R 2 - 2R BE 3 ML K— 4 I ERL 3 FE KB 2 HR 2 Bl KE 2
25| EB—IFXE FT=—4% ¥L— 3 A0 —&% 2 WA EE ML ERE 4 #HE BEX 4 h% MR 3 ROAE 1 AR E 3 XE Bt 4 & WE 2 e Ef 2 MR BK 1 TmE BEFE 1
26| BARPEREK BH -8 2 we il 4 AM| BEZE ARE B 2 @k T 3 ByfE R&E 3 B % 4 &HhE BE— wm & T w &8 K 4| EE EXER 1 g Ek 4 BEAR Ki 4 SH Eh 4
27| FEPEREK ZH EE 3 BE EE o R REK EE K 3 TRy W 2 #BfR mX 4 e X 1 VEH i 4 wmiE K& 2 K ®E 3 R ER 4 AR KB 2 HE fiE 2

KO EMENT [EREAVN—EEEZLI-EFTY,




